F750 / F850 GS - Heat Shield Kit 2018 and up

See detail 5
for position

Pos Qty Part No. Description Ordernumber
850045 Heat Shield Kit BMO09F01-HSMP - Alu Black

1 1 700060 Heatshield Fronttube

2 1 700061 Heatshield Muffierbox

3 1 700062 Heatshield Adapter

4 5 300054 Bolt M5x12 Torx

5 1 300055 Bolt M6x50 Full thread

6 1 14045 Washer M6

7 1 14036 Lock Nut M6

8 1 14111 Speednut M5

Replace original bolt
by Pos.5 Bolt M6x50

In order to avoid smudges and fingerprints
burning into the surface it is imperative to clean
the exhaust before starting the engine, burnt in
stains are very difficult to remove.

After 300 miles or 500 kms. check all nuts and
bolts and retighten if necessary.

www.bos-exhausts.company BOS

EXHALSTS



